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RecursiveRayTracer.cpp

vec3 RecursiveRayTracer: :traceRec(const Ray &ray, int recursionDepth)

/x ... (@) ... %/

const vec3 hitPos = ray.getPosition( record.t );

Material *material = record.material;

if (material->getMaterialType() == Material::Perfect_Specular_Type)

{
// TODO: fill here

return vec3(0,0,0);
}

else if (material->getMaterialType() == Material::Specular_Refraction_Type)

{
// TODO: £ill here

return vec3(0,0,0);

/x ... (@) ... %/

~
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[const vec3 kr = ((PerfectSpecularMaterial *)material)->getSpecularCoeff(); ]
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[const Real eta = ((SpecularRefractionMaterial *)material)->getRefractionIndex() ;
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MyAlgebra.h
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vec3 i; // OD0O0OOOOOO
vec3 r = reflect(i, n); // n OOO0OO0OO0ODOOO

Real eta = 1.5f; // OO0O0OO

vec3 r = refract(i, n, eta); // n 00000000000 000O00 rOOQdOGQOOOQ
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